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BES-019 : TEACHING OF SCIENCE 

Time : 3 hours 	 Maximum Weiglitage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
What do you understand by 'Science ? Explain 
aims of teaching Science' at elementary level with 
suitable illustrations. 

OR 
Explain any four essential aspects of 'Nature of 
Science' with suitable examples. 

2. Answer the following question in about 
600 words : 
Explain the process of Photosynthesis in Green 
plants. Design an activity for facilitating the 
learners to understand the process of 
Photosynthesis. 

OR 
What is meant by Reflection of Light ? How 
would you facilitate children to learn the process 
of reflection of light from concave and convex 
mirrors ? Discuss. 
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3. 	Answer any four of the following questions in 
about 150 words each : 

(a) Importance of 'Hypothesis' in Science. 

(b) Scientific data - Nature and collection 

(c) Implications of Children's Ideas for 
Teaching Science. 

(d) Scientific method and its importance. 

(e) Activities for teaching "Balanced diet" to 
elementary learners 

(f) Construction of concept map in Science : 
Advantages and steps. 

	

4. 	Answer the following question in about 
600 words : 

What is a Unit Plan ? Select a unit from Class 
VI/VII/VIII Science textbook and develop a unit 
plan on the same. 
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